7 [

] - )\ GERRIEEIN. EEROHE | R e S e e ) e 1Y 34

mF— 514K
®1-2: fHEtE

[ABROEE (LMt BEmER )]
M3 TMESEER [AR)\FEERT]
M4 FHfEE (BT —C R ELEEEE)

(BAD - _ - _ 3
be . T AEEER emgnggm o D
613—-—4\%%%% —— TS 114l O /NFEZE
: 160 orL4 mF:kES
150 70+ — (104
el | 96| [gg] [o7]
50 —1 [ |
130 86.5
101 401 748 1720
0l “l 166.2
20 534 |505 [52.0
5t — | 20+
] 10
511 (48| 43| |45| |39| (38| |33 107
' ' ' ' 0 0 19914 94 97 99 02 04 07
19914 94 97 99 02 04 07
LAERIIRFEERDIHET
(kM) plin- 3k
30
2.6
25 | 2.4 23 2.4 23
2.1
20t .
15F
10f
1.0 11
0.9 .
05t —— X — /\—
—— BHE]
—— OUEZIVX-RN
19994 02 05 08 11 19994 02 05 08 1
Y—E RELELFROER™ LS (2009 %)
(C=))
1,400 [
1,228 1168
1,200 |
1,000 |
800 [
579
600 499
400 | 378
200 f HH L L 63 55
51
0 O I e e L L
YOk & BERE & BB D 82 B RE N ¥ TAWIMET T A & B OH EA
7 & m BExfmom B B #1 8 B &2 ¥ Bz &2 Y 7 oW @ & &1
b % waEmp € Bt 2 x| % 85 5 B X 97ER 7 08 % m x &)
POGEUITL pEEE Berc.i 15
% g 2 g = 2 £ = 2
¥ =

~



